CHAPTER 9 TEST C



Name: _________________________

Directions: Show all work.


Section: ________________________

1. Which one of the following formulae will produce the sequence 
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2. A sequence is defined recursively by 
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Which one of the following gives the first 6 terms of this sequence?

	a. 
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0,1,2,7,20,61
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0,1,3,10,33,109,360
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0,1,3,11,39,139
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0,2,6,22,84,296
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3. Which one of the following sequences gives the first 5 terms of the geometric series with 
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4,10,100,1000,10000
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4,10,25,62.5,156.25


	c. 
[image: image17.wmf]{

}

4,10,40,160,640
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4,25,250,2500,25000
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4,10,25,32.5,156.25
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4,25,100,400,1600




4. Which one of the following is a simplification of the sum 
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5. Which one of the following series is geometric?
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6. Which one of the following is equivalent to 
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7. Find the next three terms of the arithmetic sequence: 
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8. Find the 18th term in the arithmetic sequence: 
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9. Simplify the first four terms in the sequence whose 
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 term is 
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10. Find the first five terms of the sequence of the recursively defined sequence:
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11. An advertising agency claims that each time it broadcasts an ad, it reaches 12% of the audience that hasn’t seen the ad before.   If the initial audience includes 75 million people, find a formula for the number of people who will not have seen the ad after n broadcasts.


12. Find the sum of the first 22 terms of the sequence: 
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13. Find the sum of the first 5 terms of the sequence: 
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14. A farmer started a farm by planting 3 seeds of corn the first year, 9 seeds of corn the second year, 27 seeds of corn the third and, in general, 
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 seeds of corn on the nth.  What is the total amount of seeds he will have planted in the 5th year?


15. Write the series 
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 in expanded form.  Simplify each term in the expansion.


16. Evaluate the infinite series: 
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17. Find a fraction equivalent to the decimal: 
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18. Write 
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19. What is the coefficient of 
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 in the expansion of 
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20.  Genevieve borrowed $90,000 at 2.5% annual interest for a house.  If she pays $400 per month towards the loan, simplify a formula for what she owes after n months. Hint: Work out the first few months and generalize to the nth month.



21. Approximate 
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22. Approximate to five significant digits the 50th term in the sequence 
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23. Evaluate many terms for the recursive sequence defined by: 
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What happens to the sequence as n increases?


24. Approximate 
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 to six significant digits.


25. Find the number of ways of picking 7 cards from a deck of 52: 
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Solutions For Chapter 9 Test Form C.

	1. e
	2. d
	3. b
	4. d
	5. e
	6. c
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21. On the TI-85, the sum can be found using the “SUM” and  “SEQ” on the MATH/MISC menu as shown at right: 
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23. Get the sequence started and then keep hitting “Enter” to produce values as shown.  The sequence approaches 
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